AT\ W X

0 I8 8 5= 5%

HANNKUEN MAGHINERY & HARDWARE

HHiCEEE #BYn BARE

- E

Machine Spindle

 REREIS




PR HANN KUENMACHINERY & HARDWARE CO.,LTD.

Hann Kuen Machinery & Hardwere Co.,Ltd was established in 1985,and today its
operation have grown to include 2500 meters of factory / company area. Our main
areas of production are:

HANN KUEN was found in 1985 which have been
established for over 20 years in this field . we have
extended expertise in manufacturing & developing
purpose machine units such as drilling head units, tapping
head units, boring and milling heads, slide and relative
accessories as sales department. In order to serve
various customers we import from Europe as agency :
which it’s accessories have great praise from our
customers .

The distribution network includes 200 outlets located all over Taiwan who sell to and service over
10,000 customers as well as extending to overseas markets. While standing firm in Taiwan with high
quality products, advanced technologies, accumulated technical know how and experience, HANN
KUAN is also introducing the best machine tools of Taiwan to all advanced nations of the world.

In order to remain competitive, HANN KUEN insists on providing excellent products with high
precision, along with professional service in order to assist all customers in keeping costs down and
avoiding any unnecessary waste of materials.

PIBAFNTINIIIRN1985F » ENREERMFTFEBSTNEMA - WIBTHER - B3 E8H08 - W EH08
SSEMAEH - WEK - STVIIFS - NESHEHESLH - RIRPEARP - BB aBRIIESGEIESS
YliRRIEE « BOMBAFHRSPIEEHT - FPBBEFRSEMSZN » TUBRPBIARE - 2 ~ ERSE - FFEHT -
SER » LISRERERSESEFENNEHES -

PIBNTRFTAEGEFT - SEBEZHR - HERCSHEEXNBRIEER - BPESEFRTEGSMNAER
BRI - DABmEA RN - RSPBEEEND © BliEsER




Y7/ \ Y@ HDT150 ERSESRF#H CNC Lathe Spindle

EiRTE Spindle Nose A2-4
FHEINE Housing OD 150 (mm)
REER Maximum RPM 6000
E#EsL Through Hole 45
ETIEYES Front Bearing 7014x2 ¢ 70
R Eh Rear Bearing 7014x2 ¢ 70
FEREE Lubrication SRS (Grease)
25 4m Spindle Pulley 5GT-60T
b Encoder Pulley 5GT-54T
FahEH Rising Temperature = 20°C
i Balancing ISO 1940 G1
EERE Accuracy 2um
88 Weight 46 kgs

HDT150 (A2-4)
| =8 | weight | 46kg |

H”!!' P

11-¢ 8.588201%,
M10x1.5BF18F

$85.94

12- ¢ 5i820i%,
M6x1F18:%
2-¢ 6.888,

M8x1.25IF

18- ¢ 5iH20/%,
M6x1IF15:%

0

$150-0.025
PD:

6-¢ 11388,
b 17.58EHIx 1R
(FE)




Y7/ \ Y@ HDT170 ERSESRFEH CNC Lathe Spindle

EiR1TE Spindle Nose A2-5
FHEINE Housing OD 170 (mm)
REER Maximum RPM 5000
E#HEL Through Hole $56
EIELDES Front Bearing 7018%x3 ¢ 90
{2 Rear Bearing 7016x2 ¢80
TEHHEE Lubrication Mg (Grease)
iR Spindle Pulley 8YU-44T
A ER Encoder Pulley HTD 8M-40T
FahEH Rising Temperature = 20°C
i Balancing ISO 1940 G1
EERE Accuracy 2um
55 Weight 61 kgs

HDT170 (A2-5)
| =8 | weight | 61kg |

8- 14§38,
¢ 204 Ix1 3

2- ¢ 8.5i81,
M10x1.58 5

]

[ [ —
-Hl!! - ——

$112.05 _ gn

18-¢ 520,
12-M8x1.25x15:% M6x1 I F 15

PCD®112

HTD 8M-40T
PD=

11-¢ 858838,

6-d 11§8iE
M10x1.5F T
AN-M170x3 ¢ 17.58E5x11E




FIIAR

HDT200 B R &l

CNC Lathe Spindle

EiR1THE Spindle Nose A2-6
FHEINE Housing OD 200 (mm)
(=T ESES Maximum RPM 4000
FEmEsL Through Hole $62
ETIEYES Front Bearing NN3020 + BTM100
BEHE Rear Bearing NN3018
FENEE Lubrication SHRE (Grease)
Rt Spindle Pulley 3V-778
HwiSEm Encoder Pulley 5GT-72T
FahEH Rising Temperature = 20°C
i Balancing ISO 1940 G1
EERRE Accuracy 2um
=< Weight 95 kgs

HDT200 (A2-6)
| =8 | weight | 95kg |

'/ 11-¢ 10,3888,
& QU LSEGE;
10- ¢ 5i822%,
Mbx1F 1875

2-¢ 10.35&i,
M12x1.7515F

8-¢ 9,

68 ,.25,, 768 _ 122.2 50 _,

| ||!!!!|!!!;!n!
s || F'.—!—_:__-“'I'

$165

$200-0.020

[}
5GT-72T

AN-M200x3

18- 5§820i%,
M6x1WF153%

6-¢ 11§58,
¢ 17 5HEX 1R




FIIAR

HB150-BT40 7T\ &H Belt Driven Spindle

BlsR Model HB150
RS Specification BT40 - ¢ 150
REER Maximum Speed 8000 RPM
I FGRIR Bearing Specification (B) 7014%2 / (1) 7014x2
RIRIRAR Bearing Type A$HEK (Large Steel Ball)
HEEE Lubrication SHASEE (Grease)
HERSF Bearing Temperature Rise =8 +18°C LI
ENTFITN Position €N (Notch)
HANFIIN Coolant HBIN (Oil)
THRERILIRE Taper Runout 0.002mm
FEFEFR Balance Grade G1
HB150-BT40
| &2 [ weight | 55kg | o 14 138 1% 330 342 426 440 503 5155
s

$202
¢ 155
$100
¢85

N

|
|

¢ 126

2mm  (3&7))
$150:3:92 48 7.5mm (7] 680 5mm)

330

FENE (180°)

PCD ¢128

8- 11 @3
D17.5x11 FA3L
180

[9)

LOGOMIE(IERTT)

B (8YU-48T | BEIEEMRE) |

4 - CDRIRIERE

CRIEE

(BEEERLOGONETHREE)




FIIAR

R IVER (FRINEZK)
I Belt Driven Spindle (Center Coolant)

A5 Model HBC150

RS Specification BT40 - ¢ 150
REER Maximum Speed 10000 RPM
HHFGRIR Bearing Specification (A1) 7014%2 / (1) 7014x2
IRERARIS Bearing Type IV§i§Ek (Small Steel Ball)
HHEGEE Lubrication SHAEEIE (Grease)
HERSF Bearing Temperature Rise =8 +18°C LI
ENITITN Position FXFEFE (Notch)
HANFSIN Coolant SHSIN (Ol)

THRERILIRE Taper Runout 0.002mm
FEFEFR Balance Grade G1

HBC150-BT40

| =8 | weight | 58kg |

39 114 138 1

6 440 452

547 573 604

$202
$ 155
$100

0,009
$150 35016

N

343 (RREME)

M16xP1.5 (£ 5

2mm (%&7J)
7.5mm (GB7J - [BHE0.5mm)

4 - UHIRIERS
PCD $128

8- 911 i@l
b 17.5x11 FT3L
PCD $180

LOGOAIE(IERTTS)

RIEE

(BEEERLOGOMETEAE)




FI/I\ROX

HDC120-BBT40 EfAZVES (FRILEHIK)

Direct Drive Spindle (Center Coolant)

BUER Model HDC120
RS Specification BBT40 - ¢ 120
R iER Maximum Speed 12000 RPM
B ERGRAR Bearing Specification (A1) 7012x2 / (&) 7012x2
RIRIRAR Bearing Type APk (Large Ceramic Ball)
HEEE Lubrication SHASEE (Grease)
HERSF Bearing Temperature Rise =8 +20°C LI
ENITITN Position FSIEME (Motor Built-in)
HANFSIN Coolant SHSIN (Ol)
FHRERILIRRE Taper Runout 0.002mm
FEFEER Balance Grade G1
HDC120-BBT40
| B8 [ weight | 40kg |  cxocmogmen o o 5 b o
et [002A] s (U003802)

g 8588 _ =
o o ©f ©
/"[0.02]A
[/To.o1[A]
85 /"0.02]A L7 -0.01
7To.02lA] $120 205
140 (00)
224 (CT)
&
3 257 (CAl)
302 (UCOI)

FRIEE T (V003802

4 - UIHIEIENR
PCD ¢109

308 (UCAI) (NMEF)

8- ¢9 B
$14x9 SF3L
PCD ¢ 146 (22.

5%)

(BEEERLOGOMETERE)

38
965

L35 PN\ Gs28-38-38
0

90

F17J£1(U003901)
1312 : 13 mm

FT708T (U003901)
GRIRE

CT (345)




FIIAR

HD140-BT40 E#5I\E#) Direct Drive Spindle

BUSR Model HD140
RS Specification BT40 - ¢ 140
R ISR Maximum Speed 12000 RPM
YRR Bearing Specification (A1) 7014x2 / (&) 7014x2
IRERARS Bearing Type A$EK (Large Steel Ball)
HEEE Lubrication SHASEE (Grease)
SR Bearing Temperature Rise =R +20°C DI
ENTITN Position FSIEME (Motor Built-in)
HANFIIN Coolant SHAIN (Ol)
THRERIRE Taper Runout 0.002mm
T EFER Balance Grade G1
HD140-BT40
| EE | Weight | 52 kg | (62)(45)(24) (0) (9) (230) (238) (389) (546)
:‘5 29 4‘1 q5 7‘4 295 393 4?4 611
614003 REFEIRAE (V001413 ZEETIE
[To.02]A]
A o 7A —
SIS 38
73
914096 (5035) 126
7 Lo.01]A] To02[A
200(00) |
"Jo.07A] 325(CAI) %
369.5(UCQl)
405(FTJHREE) UCOI (165°)
%00? O s
PCD ¢121 -
CT (195° ~ 210°) (&
‘% 2-M10xP1.5
D 2 O oD 6160 (100°)
, Aﬁ'ﬁﬁ"
K & }‘3 o) -
8- 11 #E3,
1711 T
{ PCD ¢160 (0°)
LOGOfI®
TRIRE LRRE
(BEEERLOGONUBEYHERR) (BEEERLOGONETERE) 511, MURREIREE




FI/I\ROX

HD150-BBT40 [E#5T\ X &l Direct Drive Spindle

BUAR Model HD150
R Specification BBT40 - ¢ 150
R iER Maximum Speed 12000 RPM
I FGRIZ Bearing Specification (B7) N1014 ~ 7014x3 / () N1012
BER (FD) 1A% Bearing (Roller) Type (A0) ST ~ KFBEK / (18) SRtE
HHEGEE Lubrication SHAEREE (Grease)
HERSF Bearing Temperature Rise =8 +20°C LI
ENIFTTN Position FEm 238 RIS, (Coupling Notch)
HANFS TN Coolant SHSIN (Oil)
FHRERILIRRE Taper Runout 0.002mm
T EFR Balance Grade G1
HD150-BBT40
| =8 | weight | 65kg |
g e GG G12 Gee G2 Gard el
/ g;; "To.02]A]
3 385
& 14 2- ¢ 14x3 Fh3L
) A = a
IR 2 3 Ex el
s 5 g s o =y .
]
50 :
-0.014 126 I
#1506 (-9.030) FI7E1(U001901) - CT (90v)
o.02|A 1372 : 13 mm _
150 (00) —
7 o 233 (F&T)1§H] Sensor) é
"]0.02] A =
o014 COLIEE: BOAO (167.5°) :
30° 30° IR g
M6xP1.0x10 ;FI%83, /‘\ écg}aj;zg% BOAI (145°)

L2727

2-M6xP1.0

PCD ¢190 (318°)

CHRBTIMEI) (BE1)

FOAO (257.5°

$6.8x5 R
W M8xP1.25%15
FIFSLOBEABAZL) (315°)
8- 11 @3,

$17.5x10.8 T30

PCD ¢ 180 (22.5°)

(BEEERLOGONELIERE)

°  125°)

R




FIIAR

HD190-BT50 E#5I\E#l Direct Drive Spindle

it L Model HD190
RS Specification BT50 - ¢ 190
R iER Maximum Speed 6000 RPM

B AGRIE

Bearing Specification

(A1) 70202 / (%) 70202

RIRIRAE

Bearing Type

KEWER (Large Steel Ball)

EEE SN

Lubrication

SHASEIE (Grease)

B RS

Bearing Temperature Rise

=@ +20°C A

ENITTTN Position FEm 238 ERI3L (Coupling Notch)
HANFSIN Coolant HBIN (Oil)
THRERIRE Taper Runout 0.002mm
FEFEFR Balance Grade G1

| =2 | weight | 115kg |
(195.5) (163) (30) (0) (25 (225) (231.5) (393.5) (491)
4‘.5 3‘7 1?0 290 2?5 4?5 43‘1.5 59‘3.5 691
R
(U001413)
R
(U004601)
o o o 9 R
<
56
Toot[A] \ 619096 (3545) 188 es0s)
194.5 (00) /[o.02A
10.5
312.5 (CA) #7701(U005901)
loodlA] 3735 (UCOI - UCAI) 5% 13 mm
410 (BUEIR) EIAREE)

4 - DIEIEIEN
PCD ¢ 170

2-M10xP1.5
PCD ¢220 (45°%)
(GRE3L)

RRE
3
6- ¢ 14 #WEIL
$20x13 ZF3L
PCD 220 (0°)

(BEEERLOCOUBLNAE)

(BEEERLOCONEDHAE)




FIIAR

EFST\EE (FINE7K)
HDCI90 o Direct Drive Spindle (Center Coolant)

A5 Model HDC190
RS Specification BT50 - ¢ 190
REER Maximum Speed 6000 RPM
B ERGRAR Bearing Specification (Hi1) 7018x%2 / (%) 7018x2
RIRIRAR Bearing Type A$HEK (Large Ceramic Ball)
HhEEE Lubrication SHASEE (Grease)
HERS Bearing Temperature Rise =8 +20°C I
ENITITN Position FSIEME (Motor Built-in)
HANFSIN Coolant SHAIN (Oil)
THRERIRE Taper Runout 0.002mm
FEFEFR Balance Grade G1
HDC190-BT50
| =8 | weight | 118kg |
o 5 5 39 G2 sl een

1?0 290 2?5 4?5 43‘1.5 59‘3.5

$246
$198
$152

-
1

[/To.01]A]

10.5

["To.02[A]

2-M10xP1.5
PCD ¢220 (225°)

194.5 (00)

312.5 (CAI)
373.5 (UCOI ~ UCAI)
410 (RRFEIR) (BEDIRAE)

4 - UIHIRIENE
PCD ¢ 170

6- 014 MBI
$20x13 ZF3L
PCD ¢220 (60°)

(BEEERLOGONELMAE)

FREEREE (M16xP1.5)

FI7DEL (U005901)

(BEEERLOGOMELEAE)

10




y 7/ \vX @ HE170-BBT40 i T\E#l Built-in Spindle

BlsR Model HE170-BBT40

RS Specification BBT40 - ¢ 170
REER Maximum Speed 18000 RPM
HFGRIR Bearing Specification (A1) 7914x3 / (1) 7912x2
IRERARN Bearing Type I\FFER (Small Ceramic Ball)
HhEOEE Lubrication SHAEEE (Grease)
HERS Bearing Temperature Rise =8 +20°C A
ENITTTN Position #®i52S (Encoder) (FANUC A860-2150-V001)
BANS T Coolant SHAIN (Ol)

FHRERILIRRE Taper Runout 0.002mm
FEIFEFR Balance Grade G1

HE170-BBT40
| =8 | weight | 85kg |

(129) (124.5)
8 125

(227) (242)
364 379

(479) (517)

(577)
616 654

714

IRIRIEIRIEE iiiiii-...
3 g 8
Sl 5
IFI_lllllllllllllll_lll'.
M1 (T ItrrrrrIrTTr T
FJ7J81 (U002901)
1312 : 15 mm
0.01/A -0.014
Al 1z $170 6 (-0.039)
8- 11 RE3L FANUC Bil 90L / 25000-B
$17.5x10.8 FE3L 388 (Sensor)
PCD 190 (180° } |
¢ ( ) Sensor (165°) Ei@ﬁl’tﬂ
2 - MExP1.0 4 - UDHIRIENR

PCD ¢ 140 PCD ¢140

(RIE3L) (260°)

HMEERER

CO-M (280°)

M8xP1.25

COI (335°) (EE3L) (57.5°)

CAI (337.5°)

TER  BAWAREE
RIS (BEEERLOGONEBLEAE) HEKRE

11



HE170-HSKES50 i T\E#H Built-in Spindle

FI/I\ROX

fitl Model HE170-HSKE50
R Specification HSKE50 - $ 170
(= ESE Maximum Speed 30000 RPM
YRR Bearing Specification (B1) 7011x2 / (&) 7008x2
IRERFRN Bearing Type I\FFER (Small Ceramic Ball)
HHEGEE Lubrication SHERIEE (Oil Air)
SR Bearing Temperature Rise =R +20°C DI
ENFITN Position #mi528 (Encoder) (FANUC A860-2155-T311)
HANFSIN Coolant SHSIN (Ol)
FHRERILIRRE Taper Runout 0.002mm
FEITEFR Balance Grade G1
HE170-HSKES50
| EE | Welght | 80 kg | (131) (124.5) (30) (0) (242) (347) (475) (486)
§ 1%.5 197 11}7 3?9 4§4 6]2 623
H
L
Y o
§82% :
FIJJEL (U002901)
To.01[A 317021 11809 I TOMM
To01A] o $170 66 (:5:636)
| 388 (Sensor) |
FANUC Bil 80M/30000-B Type M Sensor (165%)
& 4 - IR BOATI90" (4] 200" %) COl (155) ZHEE
2 PCD ¢ 130
2-M6xP1.0
PCD ¢ 130
(FIR3L) (260°)
M8xP1.25
(BE3L) (57.5°)
PCD $190 (0°) 6- BENNE EEAD 1. HEEINEE
TRIEE (BEEERLOCOUBLERE) HEIEE 2. BHBAE R

12



FIIAR

HG170 EER &

Grinder Spindle

A5 Model HG170
RS Specification $170
R iER Maximum Speed 1450 RPM
B EFRIS Bearing Specification 7018x4 / NN3018Kx1
RIRFRIS Bearing Type A$EK / $84F (Large Steel Ball / Roller)
HhEEE Lubrication SHASEE (Grease)
R Bearing Temperature Rise =& +15°CH
HESLIRISREE Taper Runout 0.002 mm
FERFEFR Balance Grade G1
Al(REAN) Al (Air Power Entrance) PT1/8 - ¢6 (i)
RERIE Air Power Pressure Value 1~1.5 kg/cm”2
HG170

| =8 | weight | 106kg |

(50) (30) (0)
150 170 200

(
6:

440) (450) (560)
0 650 760

4

$210
?171

SHERIRIE
U008314

6- d11 @
$17.5x10.8 3L
PCD ¢ 188

002
$170 .9.03

EfIRE

17
8 M40xP2.0
125&0
-42.]

SHEXIRIE (V008314

ZERSM

13




AT\ W X

High Rigidity / Precision / Low Vibration Spindle

ISO 9001
BIFRER:E N T

iR E M B R AT

HANN KUEN MACHINERY & HARDWARE CO., LTD.

TEL:+886-4-24860602 FAX:+886-4-24860605
Email : hann.kuen@hardy.com.tw
https://www.hardy-tw.com
SPRmERETIEE 2258

NO. 22, Liou Shun Rd., East District, Taichung City 401, Taiwan

RS RR iR R
F14 : 18006196750 F14 : 13859934422

SKYPE:hann.kuen1

Fiii5 78 N
TEL:510-88273528
i : 13585084338
BfSsAE
TEL:592-7111755
14 : 13306012755
FHLD AT
TEL:757-87666580
SH4 : 13450836518
EEHHERE

1% : 18166314672

QQ:1610839071

FAX:592-7113866
QQ:1987006372

FAX:757-87666090
QQ:1025681165

QQ:505250363




